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SECTION—A [/ 3%l / $—94 / ®—aTgmt / WIE—&h
Choose the correct answer of the following questions (From Q. No. 1 to
Q. No. 45) ; 1x45=45
oS ] 2P R SwAch! AR SRraar (e e 1-7 o1 2 72 45 3 :
RIS eryesteT o Seafd @oe 3@ 30t (2 71 1-97 (473 248 45 1f3) :
mmﬁw@ﬁémﬁm’mﬁﬁy (wifa i 1 Porr wifa < 45 Rm)
A e T A 6 W 3w o S A (3w o 1 A WA Ho 45 )

1. Which of the following sources of energy do/does not produce
carbon dioxide?

o & TR (RINBICA / (FACIEBE. I SRS Bl 1A 2
S5 crew e Tesiafm @A/ FRSTE FHEA TSIR-SFET Teom 5@ 712
TR e Farety mem a3 Wt/ a3 a3 FE TR R
ﬁﬂ%@ammﬁﬁﬁﬁ?-mmﬁqmmsﬂﬂﬁm?

()  Wind energy (i) Geothermal energy
oI " ‘e putm e
e #fe =1 -SI% *fE
AR ME . 22 w-fgma
(i) Hydroelectric energy £57% (iv) Fossil fuel
AR *feE Slara 2@
e *fE Glara 2=
2-Tifeca Ml G e
STetferegd, St Sfrarey v

fa) (i) ___ (b) (i), (i), (ii)
(€) (i), (iv) (@) @), (@), (i), @)

2. In the foliowing question,;a? statement of Assertion (A) is
followed by a statement of-Reason (R). Considering these
statements, choose the correct answer from the given
alternatives.

ol 2ore WAl (A) fosl «b1 Bfe fm Pres s (R) forst o Sfs
frm (2 1 €% el R IR T RemaE o/ wey Sead i
Tferea |

evn erafoes wR1 (A) oI @ofb OfF @3 @9 (R) Row o« Sfs
craw) 2R | % O i Ror weq Meva Remaf (2 ws Tl @z a1
A1

TR GHEE &1 (A) TR A Bl e s s (R) W& WRa™
fagfy grma et | & fergfimind) fafram R e s Rem
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3 9w} il (A) % wv i o 3f ¥ an R) % w7 i gadl 36
ﬁﬂ%%lwsﬁsﬁﬁwﬁmﬁ%ﬁ Wb =

A H T F @@
Assertion (A) : Ei!ﬁﬁ

Acid rain occurs when there is maximum concentration of
Sulphur dioxide and Nitrogen dioxide in the atmosphere.

Reason (R) :
Such rains destroy forests and pollute water in the
wetlands.
TR () TEETE wofe AR T SR-wws S e
CR-WHR T 3 e «fRs Tagem i o )
FRT(R) (B AR QA -3 @S @ TS GoAPEIZA e
e 33 |
TR (A) : R WSS AN HETE TR-IHES @ ARGE OfE-
SRS Iy o wnire 3fq 33 = |
IRV (R) : 2 40T IR T RO TR ML A TAETER TS
sl
T (A) : wwmﬁmﬁmm-mﬁgmmm-
SRR (R) : 3 Taml smm - BeEAEn ane e g
@R Bl @TGTEPI_I

Afired (A) : agHed # mwﬁwmm AR A
TR il T-ghg B W 27 aut Bt

Fo7 (R) : Ut 9ul =9, S F AW R T WI-91Y AWl w1 gt
wftd Fdt R

(a) Both (A) and (R) are true; and (R) is the correct explanation
of (A). ;

(A) &% (R) T=@ 35T91; O (R), (A)I ®% W |
(A) &= (R) Tegy Ael; Gat(R), (A)-«9 S T |
(A) 3 (R) HE 91 30 (R) o1 (A) F ow S@afmm)
(A) 3 (R) 31 Wl &; *fi (R), (A) ) wel =mem R
[P] (A) is true, (R) is falsic.f- : oA
(A) 7193, (R) =pTe) | ‘ - E}?&i
(A) 37, (R) P79 | *
(A) 37 9R, (R) 1 4R 721
(A) @& 2, g (R) e 1
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(c) (A) is false, (R) is true. )
(A) T°TE3, (R) 79 | E%LE
(A) woTe), (R) 379 | el
(A) 31 9r 721, (R) 31 90|
(A) T R, g (R) wél R

(d) Both (A) and (R) are true; but (R) is not the correct
explanation of (A).

(A) W= (R) Tcu sey; 42 (R), (A)3 o7 01 74 |

(A) 9 (R) Tty 57wy 37 (R), (A)-99 8% 000 < |

(A) 3R (R) W38 oy, e (R) 20 (A) B o F@afmm =)
(A) 3T (R) 3t &; fg (R), (A) 9 & =men 7 2

3. What will be the adverse effect of melting of glaciers in the high
altitude mountains and polar regions?
mmewmwmﬂwmm«wﬁw
2O A9 ~1cq 2
T S R T e Al TN TP I B G R s
mmmmmmmmwmwm
UEmf My Trem M g
g Hhar &7
() Rise of sea level o
AoRPR TR
RS T
A4l Torg @i
AP qd T IeaA

(i) Large extent of coastal areas will be submerged
oA el S #fiAre 41 T Ehom
Torpe et S wee Uik e %
aifen SR Tam simden dam e BOS
Sygei T &7 9 3 g1 s K3

(iii) Issues of water scarcity will be resolved © -
A4 A TP T4 7'
CEASICIR ST ST 2
3 srEtt S sam
urHl < 31TE R g gnfr

B25-SS/520-C
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(iv) Biodiversity will be protected

(R foare s '

) Rfbael safrs w3

- Wtan s

e fafavan qefim B
@ @), G, ), [v) @\%@ (b) (i), (i
© ), (i) - (@) (i), (i)

Consider the statements (i) and (ii) about the pollution of urban

centres located on the banks of rivers, and choose the correct
answer.

TR RS WaFS T S A SPofe were fim BfE () W@
(i) 78 391, = W7 TeAch AR e |

T 4T3 ST TR WA At ST Nes e O (1) @ (i) Bom
>, ma@%mﬁgﬂmml

S-S T THRECAAR S i SRRl A e de Rt
(i) 31 (ii) @ fafsre=am s an R T’ |

TRt % w2t W O el s F wem F A F fie e (1) ok (i) B

() Urban garbzfgg-;énd industrial waste pollute the water of
the rivers flowing through or by the side of urban centres.

BTISE TRl SF A9 (AR “MILE Fo S qeEh 1 IREw
2QI%T -7 AR 2 3E |

S TREA 8 Jodd AMES MY R WerEd TR M we@
31 frew 2[R g we 2mfs w1 |

SRR SER A AR TEEHE S80S AR 3 SRt
T TS| e -3 Sl e e

el 3 Siehfiih Fg1-ahe el gerh % A= A @ A TR TRA

(i) About 55% olf-:fi'x_c total length of America’s river is polluted
by agriculturé related pollutants like chemical fertilizers.

ACART JEAEY s W ol ees% PR TR A FREl
AR AR AR e |
AP FEANGA FLCAD <M Cea ¢ e 9 PR Naa Weel e
AT A ARG 2R | E%;El

e

B25-8S/520-C [ Contd.



( 6 )

aﬁﬁmgm%ﬁtﬁmmmmﬁ%%wumw&mﬁ

SRR e @ramuE e s |
e T3 aTifn Y et ) -atars a5 55% fewm tanfF ar # @
SR BT W g R -
(@) Both (i) and (i) are true  (b) Both (i) and (ii) are false
(1) == (ii) Yraioie s7ey (i) =¥ (ii) HCaBE wpTe
(1) 9 (ii) 702 19 (i) @2 (i) 762 wprey
(1) WY (ii) M= om (i) 2R (i) Aea om =
(1) *R (i) 31 v & (i) 3% (i) 26 Tora &
(€} () is true, (ii) is false (d) (i) is false, (i) is true
(i) 373, (ii) =pTey Bl & (i) =PTe3, (ii) STy
(1) 317, (i) wprey %{?ﬁ (i) BT, (ii) >Te7
(i) 1 =m, (i) 3 om 727 (i) 21 9w =7, (i) =1 9%
(1) W& 2, g (i) rera (i) e 2, g (i) wét 2

environmental problem

the options given below. ixs

mmmmwmmﬁwmwwmﬁm
R um Tt MR T | =

mmmwwﬁm%@%ﬁ%{mw%ﬁm
ﬁwamcww%aﬁmmw|

AR ST S e erar e R e s
TR BHREAES 4R framd) awa’ | bl ™

Wﬁ%ﬂﬁ%ﬂaw%ﬁwﬁ?ﬂ%ﬁﬂéaﬁﬁwﬁm T R
et 4 4 T I o = B I R

(i) Cities like Delhi, Bengaluru, Guwéiﬁ;ti,
facing shortage of underground water:

i, Reoteg, warf®, o wifi veq PSR AN AGER S SR

Pune, etc., are

EhaE X | A
% %) i, e, @, "1 X 1 ORSR TR TT TR 2 |

W,%@%m,@mﬁmmﬁﬁ%ﬁmw
|

i » TARE, U anfe wed % 9 H uE R R e
%@ﬁagngérﬁn%l ™ ~

g%
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(1i) River bank soil erosion is a serious environmental problem
in the states like West Bengal and Assam.

W\ﬁwwmmwﬁaewﬁmmwmﬁﬂm

ST |

m\ﬂ AR IR W A0 A orvers) gl sgEE Ao
|

meamaﬁmam%mﬁmﬂwwmm
ﬁmmaﬂtms‘fﬁm'ﬁﬂﬁqﬁ% F T
Tt w2 i, i e

(@) () is true, (ii) is false ~ ° (b) (i) is false, (ii) is true
(i) 3T®3, (ii) =pTe (i) ®PT, (ii) 3Te
(1) 319, (ii) =PTe ; (i) wP7ey, (ii) 7o
(i) 3m 9w, (i) 3m 9r T2 - (i) 31 9R 7=, (ii) 30 9w
(i) =& 2, freg (if) e & (i) Tema ®, Freg (i) e @

(c) Both (i) and (ii) are true (d} Both (i) and (ii) are false
(1) O (ii) T=wm TS (i) S (ii) T =T
(i) @ (i) 502 7o — () @ (i) 72 P
(i) oM (i) A=a om (i) 3 (ii) AT 9R 7T
(i) 3w (ii) 2 w1 & L; (i) 3R (ii) < Tom ¥

I‘ﬂl
..,,?

6. Which among the following? statcmcnts are correct about the
northern hemisphere? £

Teq (1] R we cwr@h%% W% 7

Teq (e R Mosa @ SReek wg 0

[Tl geEra A e T -ae el At

It e, & wed # 37 § FH-H f 3fe e 27

() 67% land is confined in this region.
va% T 9% e w@sfe |
va% R @2 wcer wmefe |
67% a1 & aﬂaq‘saﬁfhmal
7@ &1 ¥ 3T 67% i Bl

(i) 90% of the world’s populatlon lives in this region.
QAR 5 SPRIA do % uﬂ‘ww—mm|
43 % TPRGE »o% q‘twmwm |
Fgaf TR g AR 90% 3 deE )
T &7 | gedt ) FA M@ N 90% I Wt B
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(ili) 57% land is confined in this region.
¢ 9% T @3 FAq 9GS |
@3% B G e @A |
57% T & MW fugmE|
@ &9 % Jfwia 57% v R |
(iv) 40% of the world’s population lives in this region.
R o TPRAA 809% @ WIS 0T A |
AR M TPRGE 80% @B GaTH AT A |
T TR e SRR 40% 3 st TR
S R 40% I 3w A7 B
(@) (1), (i) (b) (1), (v)
(¢) (i), (i) (d) (i), (iv)

Identify the ocean from the characteristics mentioned below :
S A fdvemel & e B v )

(1) This ocean covers about one-third of the earth’s surface
area. Lo

R TRPTR A3 o -9 212 e g |
ﬁmﬂaﬁﬁﬁ%mw-ﬁmmwmwml
%ﬁmwﬁmmﬁmmmmﬁqﬁﬁl
T HERFT A 9o < i o -foerd iy O w3

(i) The average depth of this ocean is about 5000 metres.
€2 TZPTRER 7S4Sl AR ¢ooo i |
<2 T2PAIorE(Ga o1 A¥el @ cooo bR |
o Qe g Meften 5000 e wm|
¥ TR oA T i 5000 e §

(iif) The oceanic trenches like the deepest Mariana trench,
Aleutian, Kurile, Philippine, Tonga, Peru-Chile, etc., are
important. N
T o fYere afmen aRwE wrerE o ok,
feCatzs, ffereite, Gren, cr-fBf wif v Remera S |

TS ACGER (TOE 0TS (R e 4@ aRiehhm,
feeares, @feeien, Gran, cr-Hf T W Remeia S |
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RILIR I ‘cmﬂﬁ“{ﬁﬁua ;
TR MR A 't A@ma

1-T@Twﬂ?ﬂ?“

WERTTE - Wil # 9al el AfEm

, Tfemea, am, We-fufn ek @ T

i, 2, ﬁsﬁvﬁmﬁmTW%tnﬁa R -

(@) Indian Ocean
CR® 26R

— N i o

SIS WZHI5[ U M1 TEPTR
T e =y Qe
o= wRmT® IRITA HEETT

(c) Atlantic Ocean (d) Arctic Ocean
ToE(DF TZPTR Teq TZPI0E
HEAoF T=ZPTSR T 2P
ams.rrﬁa SR RSP
ITHATH HEETR IA (TR{TH) AT

TR (GO (TR TN ﬁ%fw'v:‘?
s CreA (IPEFER @b vae: ﬁ?ﬁ R ?
A =« 5 71 A4S MM T80 5,
(@) South America : Sahara =Df‘:sfi:rt
W ST : BRIAl T
P SR : A=A T
Qe AR @ ARR AeIer
2fegor iR « wER TH
(b) Atlantic Ocean : Mariana Trench
T beGE W= RREE 4
oA RIS : R A
et A ¢ AfeaEn g -
eiTeh HEMTN ; ﬁf@m@r%
(c) Asia : Bering Strait 'q-.A
«fear : @Rk a9
affm : @RR 2@l A
il :aﬁﬁ-ﬁ'ﬁﬁ
of{r ;o gomed

B25-5S/520-C

. .. {b) Pacific Ocean

Which of the followmg pairs;is=correctly matched?
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(d) North America : Death Valley
Teq Wik vy A
e WP ¢ (T S
ure s 2y 9fd
Sadl amfE @ a9l

as Assertion (A)

9. Two stat v w, one is labelled _
atements are given below, Bl Thigs

and the other is labelled as. Reason (R)-
statements and choose the most approprlate answer. e
woTe 1 B fi cag, b A (A) ROk A AAGIE T (R) 15
Rfere <R | Socaes KR T W WHRELE Soe TETc Ak e
T 7R e e T, waiE TR (A) BT @R S I (R)
Rowa s 3w | Sheah Rom a1 @k 0@ B77e & (R W
I |

gk ghigoh g SRRER, Sl Ry
RS - .

Fogflt w7 g =

12 A S & 8, af (A

3R = IW =TT | S

Assertion (A) : S

Except the narrow coastarplains, ‘the major part of the

African continent is a large plateau, no high mountain
range 1s there in the continent.

Reason (R) :

The Kilimanjaro peak located on the east i )
place of the African continent, st 1s the highest

TR (A): Tl (5% ies $RE-aRed Sl e X
TR TG, SR TG HTW ofend i | AR

IR (R) ;[ 2T 1 RFTETA 101 et ez Twow 3% |

T (@A) TR SRR e B e s e
<36 T28 TR, mﬁmmmﬁ;ml' Sk

FEN (R) ;7 28 4P Rt ek e weom e v |

=i (A) : m’ﬁlﬁmzﬁamﬁaﬁmmﬁ :
ST 17 1, 3 e e o

s (R) : wr=n fiemg Ferfemmene
el Bl T Rt st

It

Eaﬂ;q‘\{maﬁm(R)ﬁﬁmﬁlﬁ‘?@f

Ly

B25-SS/520-C
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SR (A) : Tl el w3 R, s i
feeen e faromer wam %a%,aﬁ%aﬁmggg

F(R): ™ R F B PR
S %&r}ﬁaﬁwmmm

(a) Both (A) and (R) are true; an I
of (A). ==

(A) ¥ (R) TS0 3, W (R), (A)F %% W47 |

d (R) is the correct explanation

(A) 9 (R) T Hw; @32 (R), (A)-<R &% 47 |
(A) 3R (R) #9380 o 3R (R) a1 (A) i om Adafrm|
(A) 3 (R) M1 & &; 3l (R), (A) 4 we) =mem 2|

/(b] (A) is true, r_(11:);_}3 false.
(8) 5T, (R) b7 |
() T, (R) il
(A) 31 ¥R, (@wwwml

(A) 2, P (R) e 21

(c) (A) 1s false, (R) is true.
(A) =19, (R) 3197 |

(A) =73, (R) 5T |
(A) 21 9r Fe1, (R) =11 91|

D10
A %’ . ';R -Ha% g
Chib LAl

(d) Both (A) and (R) are true; but (R) is not a correct
explanation_of (A). '

(A) 9% (R) Tew>7er; 3 (R), (A)4 99 8% A0 7 |

(A) G2 (R) B0 5795, R (R), (A)-99 < 9% 77 W |

(A) 3 (R) WF&l o T1Im (R) =1 (A) 1 o swafymm 71
(A) 3ir (R) 21 vt &; fFg (R), (A) 1 v =amen T R
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divisions of oceanic floor in

graphical th and find out the

10. Arrange the following gCOB<! g dep
the segqucnce they occur 1n incrcasing
correct option.

T fim wzpTeRe SfereR g
Teach Ak Sfed | -y
RN e smecR $-2F M s T W
IR A | s
ErTE S e o T-wee o I Hr;fﬁa;m
R e wea T g | _ - 5_%%
m%maﬁi—gﬁﬂa@ﬂgﬁmﬁ;ﬂﬁﬁw g], 3

Oceanic Ridge — Uccanic
& Bzigonﬁf%eegmmgca - Plain — Continental  Slope —

Continental Shelf

SR S TS — e CERHI — SN @@ — TSR Twen

e TS A S 7

33 % UGl @

— TR0 — WA
SIS T 1% > TRl P — A RS — Sl e
— TRITE — R 5
et Bty < — Aehentt TEE — ARG e — e e A
— HET RN — HHH B A el
Tel wd w@E o U wed - W Ao TR R T -
TR o — WeEdE Wes (W Ae) T

(b) Continental Shelf — Continental Slope — Deep Sea Plain—
Oceanic Canyon — Oceanic Ridge — Deep Sea Trench

TRCTAA — T2 — T8 o — _ 5 .
i el s s R S

s omeil i bl - UL
A2ATR 26T %Thﬂﬁﬁzﬁqmm;;’ iﬂmﬁﬁu‘mﬂ 3 —

wETEIdi W 92 — weEd T — ey

Jc) Continental Slope — Continental Shelf_——a Oceanic Canyon
a Trench — Oceanic Ridge

41 — T CEPRA G — 19 syren — 98 T
O > T Lt g > T T — oS

B25-SS/520-C
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FEAA FEFN — THA 7 AR — Qehanf £ Mot AN I —
Mo Qe 21— AeNETR T e

TR BT — W 1 q - oft — Ta — Tl
e, W kel TR U T -

(d) Continental Shelf — Continental Slope — Deep Sea Plain
— Oceanic Ridge — Deep Sea Trench — Oceanic Canyon

TRIGTIM <> X261 — 587 Siwes — Sfes e — 581 7
S — STEAH E L

W—)ﬂqwﬁmfﬁﬁm-._)\s L aaad = T

THE T SR — GEIH S — Mol A o — aeaTi gwE —
M AEER 31’ — AR fen

WETEIMIE AN W — WETE BT — Teq WA A > W F2h — Ted
) g - W Ao oD
| m?&i
11. Arrange the-chronological flow of migration of the following
groups of people to Assam.

woTe ST 1 SACAIGRY SPTHCA (21 e SR e S |
A TRe FABIEETR SPICH 26u1 oF6H 21T A T |

e T T Ge FIRHR ARG SEaRE A 2! $iid @ |
Pt SR 01 T g S ) FEE 9T e

() Mongoloid (i) Austric
AN RIS
AR YiEe
i o
wed it
(i) Aryan | - (iv) Ahom
Wy bl
Wk M B
W . b 3E A
ad : +TEm
(@) (i) (ii)—(iii)—(iv) (b) (i) (i) () (iv)
{e)  (i)-{iv)-(iii) (i) (d) (ii)—(i)—(iii)—(iv)
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12. During which of the following
witnessed lower growth rate O

13.

( 14 )

State of Assam

decades, the
s compared to

f population a

India?
oo FErE wmmwwwﬂmmmmm?
a2 oEedd (AT W

N5 reT WIFYTER (FMBCe ST Gep1RA
TAREA 7 A

Tags @R WRAA?
T ¥ T e mﬁwﬁm—qﬁmmmﬂﬂﬂ??

(@)
(c)

Why is a democratic g

1901-1911 (b) 1981-1991 L
1991-2001 (d) 1941-1951 @5?{%@

overnment regarded as a better choice

over other forms of government?

STOI TR R O T SR v o A AT
TR TS SRR TR ({03 S O e AT Pl 2 (512
TTOTAiTeh HHR S 9 B & e ) WA A 87

(1)

(11)

(ii)

(a)
(c)

It promotes equality amongicitizens.

% AR e STl 9% AL

aft AR e FTel Jfa R |

e TEETERRA TSE T S|

I8 ARG % &= A 6 gha F )

It ensures economic development.

% weftafes 2efe fRve 01 | |

oft GeReT aafe FfAioe 30 |

0 TR st @

Tg enfdie Wt @1 ghfia el 1.

It provides a method of resolvi i
e Rty 6 ﬁm_?t:;gl?g conflict.
«fts - T @ Bom g s |

e e SRR ST H TE a
72 4o % TR F1 39 TH FEA -2 |

’,

(i), (1) El4E (b) (i), (iii)
(i), (i) E‘%}ﬁ (d) (i), (ii), (iii)

B25-SS/ 520-C
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14. Two statements are given in the question below as Assertion (A)

and Reason (R). Read the statements and choose the correct
option.

oo i e WA (A) WE FAY (R) B frm fom CoCE )
R0 *I01 W we iewd Ak e(m)| Ry

s e efire MR (A) @k IR (R) Bowa b R crem za |
Rraasf e @2 ws el @ @ @

TERR HAEE A AM WA (R) "R A T IR |
ﬁgfﬁqﬁr@wmmﬁ%@% grrE T g | ik
ﬁﬂ%iﬁamﬁafw(%aﬂtm (R) % &9 & 3 faam Ry 81 32
15! 3R wel foeey &1 =g =0 .

Assertion (A) :

To grasp the inner spirit of the Constitution, one should
go through the Preamble of the Constitution.

Reason (R) :

Each and every word mentioned in the Preamble bears
ideals, philosophy and ochctwes of the Constitution.

7 (A) : Wﬂﬁﬁﬁwmﬁﬁmﬂﬁww 21 TE |

IRV (R) : m%mw@wwﬁmwwﬂ i
i T |

Wil (A) : Wﬁﬁﬁ?wmmmﬂﬁmwwmn
IRA(R) : 28R Afel *cam T ffen A FQUE e, ™E @R

o
<t (A) : ?;mﬁamﬁfwmmwmﬁﬁﬁz@ﬁﬁﬁ
1
sed (R) : AeEh AAEEE G e JEeE 7S GRiRE
e, TAE AR A

iy (A) Wﬁﬁqmaﬁaﬁmﬁﬁaaﬁmﬁmm%l
F1 (R) : mﬁmﬁmwﬁaﬁmmm i 3R @
aTfed Bl e
(a) (A) is true, but (R) is false.
(A) 3797, 3 (R) &PT9 |
(A) 7791, 3 (R) =P |
(A) =11 o), 9™ (R) 31 IR AsT|

(A) =@ &, fg (R) e )
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(b) (A) is false, but (R) is true.
(A) 7@, 3% (R) 19 |
(A) =73, 37 (R) 577 |
(A) 31 9m 71, Ao (R) 311 oml
(A) 7o & Bheg (R) wdt 21 |

(c) Both (A) "'and (R) are true; but (R) is not th
explanation of (A).
(A) S (R) i oy, R (R), (AT 07 T = |
(A) @ (R) 46z 55 B2 (R), (A)-a9 9% 1 H |
(A) 3 (R) S o, A (R) o (A) ¥ Sraafy 77|
(A) 3t (R) 261w &; B (R), (A) = =aren A 21

(d) Both (A) and (R) are true; and (R) is the correct explanation
of (A).

(A) =IF (R) FTHHR 95; WF (R), (A)F % 1401 1

(A) =% (R) {02 31@1; @2 (R), (A)-99 W7 I |

(A) 30 (R)- et om; o (R) o1 (A) 7 7 @afy)
(A) 31 (R)<1 wd &; +in (R), (A) ) wet =we 21

e correct

15. Who can bc'——i{B;e Chairman of the National Human Rights
Commission? == :

AT T SAFR-FCEA TS @ 7' AR 2
AR TR SRS AR TS & 2@ e 9
TSR g WAz i siwefife dn sm emye
TS A AMHR A 6 A8 F D) g £?
(@) Retired Chief Justice of a High Court
T R O SRR 2Ie 45 iR

CRICA S AR 2= J45 RiEN

(b) Retired Chief Justice of the Supreme Court

T TRFICHR 20T&+ g5 wraids
st ferfswarfer s’ e fafefiy

I A F [ 76 =rdiy

B25-85/520-C [ —
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(c)

(d)

( 17 )

A retired judge of a High Court

AT TWH PRI & Sffa=] i

I T TR GG 2T syriap

e fafmenferfy @ s’ fifnfin

et 3=1 =maem % o =y

A retired judge of the Supreme Court
SRR G ATE iap

THON RIEET GG AG AP

SR fafsmarfety e s fafwfif S

I IS F qd =i £ e

Find out the Agencies of the UNO. ~t

TN ASTAPHE AR e | o0
FERCT SRR (0% IR A | Cd
TG SHRA TR aae’m R £
TG Y G9 F 37 55T |

(i)

(ii)

(iii)

(iv)

(a)
(c)

Secretariat

RIS

oA

e’ o
United Nations Human Rights Commission
AT T TR oA =5
T MERE G AR AT N
T Y T WA AHR A &)
General Assembly

IR 3]

SIYE 3]

TR G -
International Monetary Fund R
Rz Ja WAd
7Y Tl tErRi gt (
sfaaiga a1 Aty £Y.3
(iii), (iv) Ab) (i), (iv

(1), (iv) (d) (1), (i)

“ ‘E
¥ Y
Y |

" |

B25-SS/520-C
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' . -
17. Which of the following statements is';/arc tmcn;;lagiig of the .
General Assembly of the United Nations Orga

AT FRe 3751 s wapa (ACDY/ CPRCE2D1 T T 2
AT TR o] o Meva ] Bfel / (e TE e 3197 2
Y AHRR Truw gyl A merf s R an? -
T g T A o w3 wod 3 g @ Ae-E/A wE @ R/
(1) It is the biggest organ of the UNO.

2 BRI JTEY W |

aft ABACTT JTET = |

0 w1 serefy e e

TE Y Y {1 G 91 307 2|
(i) It has ten temporary and five permanent members.

O P SR 3R Sf5ee 2 ST e |

& Wit TR R wrE R 7 |

(iii) Its main function is to séttlé the cases filed by the affected

member States. =

‘iﬂﬁﬁmm&cﬁmwm’@nﬂw TR Freafs
1 |

mﬁmwmmﬂwa@@mw'@wﬁ—
iy S WEPR Weeifs

R e TR S TR s S T R S
THH GO F1d t—swfd wew gl R Rt 1 e )

(@) Only (i) is true (b) (i) and (i) are true

e (i) e () W (i) ey
t(:@;m (i *ro P () @R (i) STop
i) anet’ om (1) I (i) s oaw
#a (i) vé 2 OO (1) i (i) vt 3
(c)"(ii) and (iii) are true [} (d) (i) and (iii) are true

(ii) S (iii) 375 )
(i) W3R (iii) 77

(ii) IR (iii) 3m ¥R

(ii) 3 (iii) @ &

(1) == (iii) STy

(1) @32 (iii) ey

(i) 3 (iii) 37 o9
(i) 3R (iii) wdr &

B25-SS/520-C . [ Cont "
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18. Identify the incorrect statements stated below relating to

cheque money : )10
(% 1 TS Tee fim wrew TR0 s 4 - ’5‘%@
(BF T4 30 N> e SReuhm wrow SRsaf fifts w0 -

=% @R a1 TErEE B ' At R g’

% IR ¥ v § Frffag e ot 4 geam ) -

() As a medium of exchange,
acceptability.
TR T Ro1eet (5 Qe STRel e e |
Rffwam T Bowa oe «3fba uma seicere weg |
Hremrraa & fell 7R ¥ it wuha mreEty T
Tt & o % w9 § 3 ) g o 2

(i) Refusal to accept cheque money will mean violation of the
law of the land.

O a1 227 FRAA W (ARG A2 SR8l 341 & |
(5% I 22 FICS SRS SACF Ao S0 T @ |
=% WRERE! SSEAT TR TRA fsrrreE) g=m|
=% R 1 TgV1 4 A1, HAT F 3P 2l
(i) Cheque money is generated through economic offence.
(5% 41 WA ToEE wRAce R W1 EbaE
(5% T4l TRAE WRCR R BT F N
% @i TRt Taf st |rfiEe smn
I TET A1 T0Y % TR Fenfera sl 2l

(iv) A cheque is a claim against money and can be encashed at
the counter of a bank.

(5% 27 41 RO GO AT AF (@ FODES A5 I 7'
AR |

a cheque has general

(5% Z'TE 4 AR @3 WOM 3R CFT IS0 TFaT 3¢q
1S3 W |

FFA T @R gEaEh Amd e o SR FEenE TR
QAW @ g

FF ¢ g W F W IR T A F FRA W AHdFd W

Hehal 8|

B25-SS/520-C [ Contd.
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(v) Only the Central Bank has the right to print and circulate

cheque moncy. EhE
(53 W1 (97 (TR QATIR 0l W f{ead A o1 | J—%}@
(5% I (391 (TR TR RO R e A0S e | B
% @R P dwarmd) Jsrar 3 T B

Fael ¥ W ) A gz o iR Fraw w0 w1 e R

() (i), (i), (iii), (v (b) (i), (i), (iv), (v
©) (i), Gii), (v), () (d) (), (i), (v),

Romen opens an account in Allahabad Bank with a sum- of
Rupees twenty thousand (; 20,000). After three months of
opening, he again deposits < 3,000 in his account. At the end
of the financial year, bank credits a sum of T 550 as interest.

Considering the above situation, choose the type of bank
account Romen has.

TEE GERAM (35S g TR (30,000) T b1 @IS 4force | GFSH
FR o =y Pree (o¢ Wl «aitde foft @@ (9,000) 531 @
TR | 8 AR e A (964 G@IvD A Awpt (eco) TR TS
AT TR |

6°R IRTZfSTh1 R TR 3w (az7e 4@ GITIHR 2R Ak Shied |
T GFIRAR AE 2R (R0,000) TR GG SHRTT LA |
ST (R SR TR A ¢ SRR s RN 2ei (v,000) TR
T IR | e T oy I TR RIS A Awrt (eeo) SRR
TR I |

o ARG Rem ¥ W IR AR WRITHHA 4PR @ AW
Eacill

THAl TARER 9637 3 91 (20,000) U6 AR HR< S@9 | TR
YA FRAMA A {0 FREE wE=aE 9w A (3,000) T S
SHETEl | (WA SERH SEE Swen it teResm s sty
(550) T ga T |
M graTE SRR dwama o Ei ww=f e  aa’ |

WA 7 3aEER 9% 1 9@ &R '™ (T 20,000) | v @@ @) @@l
Qi % dF 7éH & @1 38 TR @ § d6 &) ' (T 3,000) s
ﬁﬁuaﬁ%ﬁaﬁﬁm%m&@ﬁﬁﬁammmsgsso)mﬁw
3o Teufa o foam e o & o @ 1 YR T@e |

(a) Current Deposit Account (b) Fixed Deposit Account
BT SAMFS ITD &1 umFe Gwied
BfeTe TS WD EhAE i SIS St
HifdTg ATAFA THE gf? o e wE=
=], ST @rdl [N S @

[ Contd.
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(c) Recurring Deposit Account (d) Savings D i nt
gs Deposit Accou
@RI TS GTH T e TS QEFTTB‘B ®

".’JB
R ARTE ST Sy ST SRS é&%’ﬁ
W A T Releiivicclica AN
R s @ A=A ST @

In the following question, a statement of Assertion (A) is
followed by a statement of Reason (R). Considering these

statements, choose the correct option from the alternatives
given below :

T opChTe T (A) 5l by S i Pies wrd (R) R < 2% fa
Car 1 5% W51 RO R 9ot oA RS o7 s Ferach 1 SRt
Mex 2ptfes 7R (A) Boww @ofb U @ IR (R) Rome o ol e
;ﬁgﬂwt‘@%@ﬁsﬁm%m@ﬁwmcmmﬁwﬁm
TERH FHEE At (A) Tt e fgfl i s m 9@ (R) 7 T
T faEy S wwn REi rhﬁq%; fafsem e SREEREEE
e e T e
3@ T § A (A) ¥ &9 #§ us R sin w1 (R) ¥ w9 & gua R
T T 81 3% 9 o ) T o R
Assertion (A) : .

Money is the most liquid asset.
Reason (R) :

Money can be converted directly and immediately into
goods and services that the holder of the money wants.

TR (A) ;IR (R WHRES SHage e |

TR (R) : ARG WF G SFESIE WE ATRELA YN
%WW%%WWW@I

WA (A) ;I EC0R SR SR A |

IRA(R) :  TULS A € GRS SRFATSIA 938 ASFFOIA TUR Wfeiceq
TWe) A O T4 M |

a1t (A) : GRFR S Ffggal sEfafem awf)

A (R) : @Magmmﬁnﬁquﬁﬁmeﬁahé@mﬂﬁﬁ!ﬁw
QET A1fed e WArEer g | EhaE

aAfiee (A) : 951 W@ o Hafd 2 é‘gﬁ

0 (R) : g2 1 g 3R ¥ % W H a3 W w9 H g e
T TEOTHER FEA Al ¢

[ Contd.



21.

B25-SS/520-C

( 22 )

(®) (A) is true, but (R) is false.

(A) 311, fg (R) =797 | Op%10)
(A) 7%, R (R) 7T | e

(A) 31 AN, o (R) am e 737
(A) =& 2, fFg (R) e 21

(b)  Both (A) and (R) are true; and (R) is the correct explanation
of (A).

(A) 3= (R) Teaibr2 >7%); W@ (R), (AT 6% B0 |

(A) 9 (R) BT 373; @2 (R), (A)-99 W% W10 |

(A) 3 (R) W% 49, amd (R) 31 (A) B 9r ¥@afrm|
(A) i (R) i 78 & o (R), (A) ) wdh =2 3

{©)  (A) is false, but (R) is true.

(A) P19y, 37 (R) 57 |

(A) =791, RRg (R) 5797 |

(A) 31 &elt 71, T (R) 21 e
(A) efa 2, g (R) wd 2

(d) Both (A) and (R) are true; but (R) is not the correct
explanation of (A).

(A) =1 (R) 7061 T, Reg (R), (A)F % 401 72 | %s%@
(A) R (R) TR >Tey; Rz (R), (A)-«q o5 g | 6
(A) 3 (R) Ba) &0, 7am (R) 21 (A) f 9 Sdsfimm 721
(A) 3 (R) 2rit 5t & g (R), (A) 9w saren 78

Consider the statements (i) and
and development and choose
alternatives given below.

HLAeT Rt o S ek B (1) wre (i) o= w1 W wore fimy
41 W% TEAC0! MR Sheq |

AT R @3 T e O (1) aag (i) Rom w731 9w Nes e
RFTat (W@ wm Tealh @r W w0 |

TR fegrem s stmemaf s fefy (i) sy (i) @ fafsen =
AT e THASRIAEE T4 et T’ e |

anidie e i s & weef & freror (i) s (i) =) WHYEF val 3R A9
fe g forenedi o @ Wl forehey 1 wEw W=

() Economic development is a qualitative concept, but
economic growth is a quantitative concept.

GftAfeT Tmm t2r Wbl @aere y[e, 38 wetafes R @bt ofRme-
5% 4R |

(i) about economic growth
the correct answer from the

[ Contd.
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QAT T R @3l g qren, R wafe Rar @3
“fREIPTF 41er |

R o e o
AfHF il R—oren ) srumon, Af snbtE R e
STFYRT | * e
(11) Economic development ‘is a narrow concept, whereas
economic growth is a broader concept.
QAT TR we Kifvs, g wlafes Rarm o e |
ST T WY e, g wlafes Rerm w2l wem |
TETrmR Sy sttt i, T el e it
TR -
e e =1 31 wiifim R, Af sl R @1 a1 =0 21
(@) (i) is true, (ii) is true (b) (i) is true, (ii) is false
(1) 39, (ii) 319 (1) 3195, (ii) =79
(1) 373, (11) 57 == (i) 719, (ii) =PTO
(i) 3 BeR, (ii) =1 AN = (i) oA, (ii) o1 AN T
(i) w1 R, (ii) & @ =z (D)W, (i) AR
(¢) () is false, (ii) is false _=(d) (i) is false, (i) is true
(i) P79, (ii) SPT) = (i) SPT, (ii) T
(i) =PTe, (i) =PTe = (i) 'SP, (i) TS
(i) 3 ey 7=, (i) MAM TS 2 (i) Beh =, (id) 3n AR
(i) 7ea @, (i) T 2 (i) Tem g, (i) @€ R
22. The Chairman of ‘NITI Aayog’ is
S (NITI) IR NGFSH 24
TS (NITI) AR S 2=

ffe (NITI) s’ stewRfifEn S

i (NITI) 3@ & 1eae FH 27 |

(» The President -.——(b) The Union Finance Minister
WA
g CT eI
erfiit T fiwenf GEnk 7R

(¢) The Prime Minister *. “(d) The Vice President
A4 L eEaRefe
ST ToEgei
e HfA et TR
T ERIAIG

B25-8S/520-C [ Contd.
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23. Match the following and find out the correct answer :

() Democratic Planning (a) Involves lowest lcve_l of
- administration in planning
(i) Economic Planning ;:_ (b) People participate at different
Sy stages of plan making
(i11) Grassroot Planning * (c) To attain a set of well-defined
(X developmental objectives
O FAICIR et s ‘@ac“mmﬁmﬁem
) T R ' (a) PR aEEM oA fwo s
RE JETTATS TTS (2R
(1) XA ofazem (b) AE  ARE yeeweE  fifem
N oPIRS BR¥I2Z FCA
(1i1) P o sifdmm (c) Fe@R 2 Tmm TS TAre
2l

b cremaft areme a3 wa Tea g W I -
(i) otrofy et S (o) 2PV IRER R PR odf
) e AR e B 26q
(i) WLAST “fdegmn ‘_ (b) SPTUE AP aFesacE f[afew
2 rficy weerze g

(iii) P iR “ff s -’"‘a (c) Wﬁﬁﬁ@@nﬂmm T

=5

mmmmﬁmm’mﬁy

(i) gIgurEaR fHerifa (a) Qa3 T MEEYR GeamE fuifa
HERiciEIRUIRS cie)
(ii) T2 fauifa (b) feuife =Fmf TH e
VSRR FTET
(iti) T werat fauifa (c) @@ & SAmf gifteE |
eI
mﬁaﬂmhafﬂnammwmﬁ

(i) TTordifes afeeT m(a)mmwmﬁw%ﬁmwm

(i) @ide qftwes ?
- ) B8

(iii) St T R wfweT (c) ﬁw%ﬁu‘rﬂﬁa@aﬁmm
(@) (i)—(a), (i)=(c), (iii)—>(b)  (b) (i)=(c), (ii)—(a), (iii)—(b)
(¢) (i)—(c), (ii)=(b), (ii)—=(a)  (d) (()=(b), (ii)>(c), (iii)—(a)

B25-5S/520-C [ Contd.
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24. Which of the following statements are true about the Partition
of Bengal in 19057

ypo¢ 53 AR RO =otd T (@Iah! B 319 2
yso0e Wﬂ:ﬂﬁ@@ﬂﬂﬂ%f@%-@mm?
1905mmﬁﬁnmﬁaﬁﬁ@ﬁaﬁﬁﬁ§fﬁm o ?
¥q 1905 i g sm-fwem e a?r-r-ﬁ %mﬂ'@%‘?

(i) It resulted in the second important political upheaval in
India after the 1857 Revolt.

vveq 59 facurea e 3 saed qamtfes fezpa e Saaaw

YO @S YBiREe |
Srea Md Rz o[ o sree Ietaes Hfeem Flw Tdnm
OAR G ICARE |

1857 wreTst At 9 vwaft Tt siiEE A
G I HATg SEHA | 53

mlBS?%ﬁﬁg%aﬁwﬁWmﬁmsﬁmﬁz@ﬁﬁ@m
T i JeaT 6 off| S

r::...#E

(i) It was executed to suppress the growing national
consciousness in Bengal.

SR SR SR T TS TR Ffe PR M L2 |
T3 QAT GTIYA SO FIRNF X FACS IR 41 A |
¥ 9 e TEEA TEE SRAET SadEE PeEaE e
STEHH |

Wﬁaﬁmwﬁ@mw%msﬁm&mw |

(i) Shillong was made the }:apltal of Eastern Bengal and
Assam.
fiies ~4aR0 SF ST amm‘ﬂ W o2& |

P W\ﬁtﬂﬁquﬁ@ﬂ‘mﬂﬂﬁﬂl
S Tr= =@ AR ST TSYER e SEiEE |
qd st 3 arem o TRUrE e o s e

B25-SS/520-C [ Contd.
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(iv) It led to the Swadeshi Movement.

R SRR S ik |
b T TR Speirs afbcafea |
N MR WA gREme|
T TR Iider ) ypeorma A of)

@) (), (i), (iv) (b) (), (i), (iv)
() (1), (iii), (iv) () (i), (i), (i), (iv)

Which of the following best explains why Gopal Kfis,h.nﬁ
Gokhale returned his ‘Knighthood’ title to the Britis
Government? _

CoTIo{TET 38 (SRTER 'W s Tofd Aty e FrReE AR

O P oMest Row Siraes ‘ﬁ@i@ Tofifs CvRe (TR FIAIGTAR
AT M Newa @l wR? -

9T TS mﬁ: ' fe ffen e SRR
LiEitaci W@ﬁﬁﬁﬁﬁﬁ?m

i

T o1 et 3R f3fem wwen #i reege’ i suify | w6 FRO
HaH IFY AT T W PR w3 fR?

(a) He felt the British Government was failing to provide
adequate governance.

o= e MArEE P gre BY 2RE I/ erece SRR |
b1 TR TeaeRE *IP 21 <Y 2o e fof cetafea |
i werm TANER Gur AUEE e R S Rt wHdEE
<e v o ffom e 6] ot e s e 2

(b) He was dissatisfied with his position in the British

administration. .

fafbe epmie arrem <nem gm fw foff v fRgem
gﬁﬂémwmmﬁ@mﬁw@mml
q fafewm e e # a1 92 ) A swige
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(c) He disagreed with the British policy of partitioning Bengal.
itz 3ol Rewm MNfes #7151 (96 e (ofea |

e 2z RRerem Nfde siey B spmre feem | )E:]%?_g
St s S @ fare e e S
fafem 1 an-favem ifa = S 3 s1HEma 9

(d) He sought to retire from public life and focus on personal

maltters.

(TS IERA Gend <41 ST 7’3 Rnfafke ore afeere an-aEe

TR IR Y& |

foft TmERA (X3 Pl fre rfkeEm @3k B FrEac Tt

FACS (SR |

frorer g RRfwE amsmE fEhe e mEf e

T B AFERA |

gmﬁmwammmamﬂaﬁmﬁmmm
1

26. Two statements are given in the quéstion below as Assertion (A)
and Reason (R). Read the statements and choose the correct

option.

R 2Te WA (A) WF IR (R) fRowe 10 T fan taom | SRece om
e e Reaco! MR Tfered |

Si5a 2l W (A) <& PR (R) Boed 1t e crem zome | T
of79] €3 WF [Aeeid (0= IR FCAl |

TR™A dFEE o (A) ma@?(g)wﬁmﬁﬁéﬁxwwl
fegfrmid W R e T weE T

A= % we #§ Al (A)aﬁzw(R)%mﬁﬁm‘anﬁ%wﬁﬁﬁ

#1 el 2in wd faewe w1 2w | ElbaME
Assertion (A) : m?ﬁ

The Swadeshi Movement in India aimed to promote
indigenous goods and reduce dependency on British

products.

Reason (R) :
The Swadeshi Movement primarily aimed to protest
against British taxes and government loans.

wid (A) : Wmmwmﬁﬂmm—mﬁqﬁww
QWWWGWWWWWI

19 (R) : S e aes ffte I-wha Wi seRl %1 R
oifam A A R A |
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TR (A) : SIRCEA AR WG T & o AR a3 M
e ST Qe AR Tom fréaRierer zm 74 |
TRV (R) : FCHN NCHECTR 24 w7 e Rfpm wa-areen @9z St
T HiF fez BfSom wa-wren @@z s
M (A) : WIGTE STHE AR @ s Y amEe
TS @MY el et wmE deeEmd G
|

G TfEme
SRR (R) :  ereaR SmEaEm WA 2T JT <enfy
mmﬁ%.

ANFR (A) : wRa F gu wR e g0 e ah B 9 v e
3R fafen wmaft w fnken ) @0 &0 w0 Ta B s o

FR(R) : T atider g gera: fifded % oo o e A
 Raen fordie F) = weg war o)

(a) BfOEi)(A) and (R) are true; and (R) is the correct explanation
of (A).

O/%0)

(A) == (R) Teeu 3ey; W@ (R), (AT o5 1401 | g}%ﬁ
(A) 9=% (R) 7202 er; @22 (R), (A)-9A 87 W1
(A) 3 (R) WF3s0 oR; 31 (R) 11 (A) F1 7% F@afmm|
(A) 3 (R) 31 =&t §; ol (R), (A) i T =g 3|

(b) (A) is true, but (R) is false.
(A) 37, o2 (R} =79 |
(A) 3519, 7% (R) 5197 |
(A) 21 9r, Ma™ (R) 21 9K 41|
(A) & &, fg (R) 7o B

(c) Both (A) and (R) are true; but (R) is not the correct
explanation of (A).

(A) B (R) Tea 57er; 72 (R), (A)I W% =0 72y |

(A) 9= (R) 7202 793; 52 (R), (A)-3 % 101 7 |

(A) 311 (R) W81 91 9 (R) 30 (A) T W Saabam 1)

(A) @i (R) 31 @ € Fhg (R), (A) R we) =me =i 3
(dL (A) is false, but (R) is true. EbiE

(A) =rTes, 758 (R) 597 | 5;%&%

(A) =T, 358 (R) 379 | B

(A) 21 o4 71, N9 (R) 31 91|

(A) Ted 8, ffg (R) wél B
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27. Who among the following cdited a magazine Vande Mataram
during Swadeshi Movement in India?

%ﬁﬂm@g@??mﬂww‘mm’maﬂ
mm TN SCHEGTR T qCTIeA AR (6
@Wﬁmﬁmim wraf TERRR VT T T e
giiifmﬁm&ﬁaﬁéwﬁ AR F A TR WA A 9fem e
(a) Arabinda Ghose E§§§ (b) Krishna Kumar Mitra

T[R9 g fig

AR (9 A fra

SNEEAE R o1 Fur fi

arfe= 9y | o0 gun fim

(c) Surendranath Banerjee (d) Kumudini Mishra

NREAR @IS T

AT T Faf

s AT ST Fyfeft fau

ATy =S gl T

28. Consider the following statements about the Non-Cooperation
Movement. Which of the following options are correct about the

Movement?

SRS SCHE R wee i SfecaRht Rem w1 1 SeeemoR Ew
wore fi Resiae] (o fos 9% ?
ﬂmﬂmmﬁam%ﬁmﬁﬁmmtwm%
e Remaln @b 9% 2
Yoo R dEEERER o TeEE wed ek TR
AEETETAR 5 TR A T T
STaEA aeer AR # 3 FoE W fER w0 R F gl # frfafaa
el # @ F9-8 wdl 87
(i) Salt laws were challenged. EW@,

¢ iz fgarfiel 4 (2w | mﬁﬁ

739 WA Reaier w1 e |

T AR A G STEmE |

e e o1 faia foman man il
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(i) Students left government school.

wa-waece saaR) Rmem e FRfE |

wa-gdar wd R e AR | E%%
e e 1 1 T

B-amEalt Y g e org far ol

(iii) Unity among Hindus and Muslims.

fg:.iw PEERIEERIEE Q9] |
& & PTEH AR WA 92 |
firg ot gy 13 A
fog 3in qoemm ¥ = wwa i
(ivy Women did not participate.
TFEFAPRICE JMerze 341 e |
pIEGIERC S UECE o ol
ATESEI ST AT |
Hfeemadi & am 7 forn an
(a) (i) and (iv) (b) (i) and (iii)
(i) = (iv) (ii) == (iii)
(i) @R (iv) (i) @R (iii)
(i) =m0 (iv) (ii) 3m (iii)
(i) @ (iv) (i) oM (iii)
© () and @  EEE (@ @ G (i) and (v)
(i) O (ii) Ob (1), (i1), (iii) S (iv)
(i) @3 (ii) (i), (ii), (i) 932 (iv)
(i) 3R (ii) (i), (ii), (iii) M (iv)
(i) 3 (ii) (1), (i), (i) 3R (iv)

B25-SS/520-C i
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29. Which of the following were

th isi :
Independence Act, 19477 y BRSO of the Indian

OFR (FTCIZDI 3589 mwmﬁammwﬁa?

MNva TSR svsa wmmﬁimwfﬁm

TR T T 1947 THARA v S AR R (@9 7

T § YRS i F, 1947 % v w171 A7

() India and Pakistan were to b i
ATistst 15, You, ¢ to become independent on
Y389 TR de 98 ©IfAey TRC WF AIfFWI TRl 7S 349
3389 Y e B Iy SO W3R AR FBIS! 1S 39 |
1947 WREUARMA 15 30TE WENE MR 3R wifRem 38 /A |
15 37T, 1947 Ft vRd 3R T waaar yw st |

(i) Each dominion was to l';ave a Prime Minister appointed by
the king. o
2SR -7 (PIee TR Pl i wrerete aueeal Qe |
2ifelb 3o cret et BRI Gee 2uEwE) IR |
THIHE TGS FeUEH) TS| e I I T HiA a0 |

b

o @ 3 O g A T S R

(ii) Two dominions of India and Pakistan were to be
established, and their Constituent Assemblies were to
decide whether to remain within the British

Commonwealth of Nations or not.

TAT GF AT A G 720 (1 5 T T AF T 7

@ FRUA ez o g Bfve IRceEve ael i or
Pram a3 £

ST 3, ARG AT B TR op A 9 2@ 9 36 (7 fod

iR el (1 4o RioH e e it e e femn P

=

el T ATEE A T €U 9RE FEAAYIE SEr T el
e i @i | i
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(iv) The Legislatures of both the dominions were restrictc.d. to
making laws only under the supervision of the British

Parliament.
R o RAARSTA (e @b ST SRR S 4
O] FIS FA |
o oo RuFmen @@ B TOTT SRR, WA 2
TS FS A
% TR o e PR daeh AEEEEE e e e
| s, |
A 24t ¥ Ry e i v % weEur § @ FEE T R
&1 WTH 01|
(@) (i) and (ii) (b) (i) and (ii)
(i) ST (ii) (i) = (iii)
(i) =% (ii) (i) @R (iii)
(i) R (ii) (i) TR (iii)
(i) 3 (i) (i) ¥R (iii)
(¢) (i) and (1v]—='- (d) (i) and (iv)
(i) o (1v] i NS (ii) =F (iv)
(i) 9R (iv) (i) @R (i)
(i) IR (iv) -+ (ii) T (iv)
(i) 3 (iv) = (i) 3R (iv)

|=nL-.:

30. Arrange the following historical events following the sequence
they occurred from old to new :

ﬁmﬁ—mmwﬂﬁq@ﬁaww—ﬂﬁmmm
mﬁ‘ﬁ@awmcwmwﬁaﬁwmm\@w
HAGS -

mmmﬁﬁwmmmmmm@

W@Wmaﬁ@lmﬁw&mﬁwaﬁ

(i) August Reyo}utlon (i) Direct Action Day
518 ﬁj:m oo Al ey
e AR et tfe we
T SATRIeH " vy wRaE Ry

B25-55/520-C
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(i) Simon Commission (iv) Demand for Complete
Independence
RI¥ Ifie o 7arEa %A
R I 4 e
A i (20 g g 3
CIECEIE RN P T
(&) (i) — (i) — (ii)) — (iv) (r(b) (i) — (iv) — (ii) — (i)
(¢) (1) — (i) — (iv) — (1ii) oAd) (i) = (iv) = (i) - (i)

Choose the correct option based.én the following Assertion (A)
and Reason (R) :

T T W (A) HE PR (R)aeﬂrﬁf‘wﬁmﬁwﬁmf%%ﬁm
MNes rem WA (A) 9B IRY (R)-97 ToR fofa o wm Real @z @
(0
TEEE AE T (A) 3 WeA (R) g faen @ 16 R
e T ﬁ@ :
Fr=ffa sfed (A) ol #ror (R) % onum | a9t e &1 =797 %40 -
Assertion (A) :
In the last decades of the. 19th century, Assam witnessed
a series of peasant revolts™
Reason (R) : ™ "1’ '
Peasants organized themselves through the Raij Mels.

R (A):  TRRM WfEeR omE T ¢ PNe AW $8e [RER

| RS C2f |

IR (R) : Ww@aﬂq@ﬁﬁﬂrﬁmﬂﬁﬁ“ﬁ%|

TR A): SR MEEE R RS T A I O
ﬂ\WW!

T (R) :  FOTA AT Al AADS ZCAR |

21 (A) : firp Sasf AR SageE s i@ oTeErEIi
famEAE SR |

sed (R) : AEERERT TR ATERE T TEERE! SRR |

firred (A) : muﬁ%ﬁﬁnmf{mﬁﬁéwwmﬁﬁa
g1 1|

# (R) : Wﬁwmﬁ%wm@w@ﬂfww
&a]- (A) is true, but (R) is falsc =

(A) 7%, 7@ (R) °PT9 | e

(A) 191,198 (R) =79 |

(A) 21 9R, TIH (R) 31 ¥R 7|

(A) w& 3, fFg (R) 7o R
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(B (A) is false, but (R) is true.
(A) =PTe), 33 (R) 31 |
(A) =PTe), 4% (R) 579 |
(A) 30 R F=1, 1 (R) o1 o
(A) e &, fig (R) @l @1,
(c) {?fotk) (A) and (R) are true; and (R) is the correct explanation
(A) TIF (R) TSty 393; 9 (R); (A)7 8% 40 |
(A) 9= (R) w3fB% 1%, @3} (R); (A)-<7 % A2 |
(A) 3 (R) #3ah om; 3 (R) 31 (A) F i afor
(A) 3R (R) 31 7t §; 30 (R), (A) 9 wdt = 3|
(d) Both (A) and (R) are true; but (R) is not the correct
explanation of (A).

(A) =1 (R) Tegn 57y; %8 (R), (A)F % 01 12 |

(A) 9% (R) Team >1e1; 5% (R), (A)-<R W@ I 4 |

(A) ) (R) w31 om; o (R) @ (A) B 1 ety w1
(A) 3R (R) 21 61 &; ﬁﬁ\f(R), (A) € we = TE 2l

32. How did the British Govcrnﬁi@%t’s treatment of the leaders of
the revolt of Manipur affect subsequent resistance movements
in the region? ; '

TR R Tepieen ovae Ribe 503 IR IAER WYEADIS [
IR Af S SR (@Fewid Aolfde pfaiRe 2
Toa ReaR epieed owa Bt Sem T (e I/ eSS
3o e A A2 Fro geifie Fearea ?
PR fammaaafy RARRERE FrE gl W STeTadE e ¥ AR
3 GHE NG ANEERAEE 11 @A e GEiaee ¢
¥F fagie & Jmen & &7 1 ffen @R it =5 3 wad 999 ® 39
&7 1 wiaar] el &I &8 i fean o7
(a) It encouraged further resistance by demonstrating that
British authority could be contested. ‘
! RIS TR AR |
Bfbem TERE AEF WA T T A0S (ora «@f wea wie
TR 2 SRED a1 A0S TR 2 FAfRE |
gfeaft Meral 9 T &l g1 gomt 1n o siame i fmar
A A GG ERMA | '
fafem @ 1 T & 51wt R, a@ Wew wREE s § aive
IcETE S A1

/
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(b) 1t led to a decline in local resistance due to increased
repression.

b,
s v R T AT e 7R | E%E
S v IRER 0 AN AR wa g ot | B
AR MeatR Tern s ety fara @y aemEEe |
wed! T fifaal 7 wrda ufvar B w5 o)

/(c) It created a sense of cooperation between British

authorities and local leaders.

3 fiftr TErF WE TAW GTOPIEq TS
Iw piicolzen Do e o s 7

aft Bt IPorF R TR CTOPRRER A TEAPER TSR 2
$Z§|§5il :

A gl fommfiit I s eAfher e ez FewEre T
gmfsEIREA |

s fofw w1 o writa Yaedl & <t wewfin ) e ser o)
(d) It did not have any significant impact on future resistance
movements.

E@Mmammmaawﬂmw
|
SfEred afea ACAEPHCRR TR @7 @I $F oeR AT |
FecicREDIRITEEIEIEE S PG EE AR EIRIC IR e R U RICL I
vfrss ¥ wfaardt Terel W 3EEH 9 AgaqUl YN T 98T A1
According to Heramba Kanta Borpujari, several Brahmin

Purohits of Upper Assam joined the 1857 Revolt. Which was
the correct reason for it?

(T’ M o, TEM PR SiENH AT AR Svea B
fcarze ansf | TR W% TR & ifea 2
EATITE REAR TS, TH P (¥ IEPEA I RS sves M
fzanz, an | @7 W PR B e 7

%mmmmﬁaﬁm,m’mmmﬁﬁqugm 1857
TraeTeh AT ATEr EEiE | A AT e JHE? : )
rcaciereciiies , SOl 3H F IHF AE T 1857
ﬁﬁsﬁﬁwmmmﬂﬁmwm? T
(a) They supported the cause of Ahom aristocracy.

(SECENS AT SfoaTS AR YT Tifed | Elhik

1 2 TS e T SRR | R

Fopdr 2RI ST (AT drErE weE ge |

%R aem sfiea @l @ andA fe
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(b) They lost their jobs after the British annexation of Assam.
BtoreE ww A @R Pre @dEme  @dEed B
eSTIRE
b1 wpm s 39 o1 S S Kk v |
IR EwE) TEe TemaEit IE fan e fesmeEE |

Eﬁnﬁﬁmmaﬁm%mm@ygagﬁ%ﬁﬁaﬁsﬁhm@a
|

.

" wiah] |

(c) iI‘hedBrltlsh took away their cxcess Lakheraj (revenue-free)
andas.

@mﬁ%wwéﬁnmwwmw (Frga) sfim sfefef =
|

B SR 2o e s (Fgw) $Re SfeRe S @ FE
e fReafes |

ﬁ@rﬁu@@ﬁmm(@mm)gﬁaﬁzm@
R |

faforit X v welt & e (Rrew) sifiy 1 aAfateen feeen 9 fern o

@ They wanted to free India from the British.

T codtes Rited ok wee FiH i Roiie |
S BvTR ZTS (00 SAeCE TAH A0S CSTTRe |
fareie gRvaRE ST v A TR |
ffoeit @ 3 9Ra F =T FON TG A @hiE

L2
(=

34. The consumption of Abkari opium in Assam fell from 1615
maunds in 1920-21 to-993 maunds in 1922-23. Which of the
following statements correctly explains the fall in the
consumption of opium? _ _

e ORIA IR G Sd0-3s TS duve (WFA ORI IMT %
caya-3® AT dbe (M (@l | T @F Rewe ofe ow g
@A A1 RS T R ?

ol SRR ST ORW Sd30-3d I sede W (A I I

vp33—29 A b T ZARA | ME e RAeIeEm @ @ SR
TR ZP1 28R 91 BTN I PR ? . '
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AMME FIfA TEEAE 1920-1021 wAawaE 1615 7'ARwa @

1922-1923 wruRamE 993 w'3 S| MR T4 WY BRI
FH TR @A TR ) 132 Seahen

SR W AEET hW J, ad 1920-1921 # 1615 7 A F FoF T

1922-1923 7 993 17 fu 1 e
e e ende b il T 7| 3T A FA-H1 FA A Yad FH R

(@) The British Government recognising the ill effects of opium
consumption restricted its sale.

FM R FUerR 39 Fow IR By e T AR R
ﬂstaéﬁi
WIS CReR gererad 39 o 3@ B swem @ F@ S
I |

I wTeRATEE M frasf e meeA 9ia e 9 wEeEE
TN AN |

fafext TR 3 orfiw ¥ & g A o =ER FW e 36
1 difta o o) &

(b) People understood the ill effects of opium consumption.
T I CRA FooRa 39 o ofzfeer | Elphl
TR SR RO $ereR TS (I | ’%‘?ﬁ
g i TR iy Rrref i g A
S 3TEm ¥ ¥ g 1 7 ) T o
(c) There was fall in demand for opium among the people.
iz e FIf iz 2P iR |
SN W0y SIRECH BIfRAl 2P (cafe |
TSR o i i Tw e |
S 3 o orf ) i g o

(d) Vigorous anti-opium campaign led by the Congress
workers. o[o
FER P (TPge &2 T 374e1 FIfA-fAcafl Frfom | %‘?@
TP FAPTRCETE GTo0g 429 A1 (W S -Readl srdere |

i AATIGRA ST e FR s e e |
Fig At & Ige § T F Raes w91 faqy gen un|
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35. From the following options, choose the programme and the
freedom movement led by Mahatma Gandhi, iIn which
Leeladhar Baruah from Assam joined,

SR RIWERR o, wem s crew o Al
ST AR Sferea v's wwa o[t S 74 e |

evs ReFwafy cwce v s Gvy m\ammmw@mumﬁaﬁ
(TR N8 (AT SPIY (ATF N4 3941 1) Tl

TR SHESRRwE  weem et R3wm g o 36
HHTFERATRE T T R Sk i el SEr S e |

T el § F weren it 3 Yy # gu e @ o @ FEE
T e 3m A wtemy w3 fown o o ,@%5
Ok

(a/] Dandi March, Non-Cooperation Movement
TIfe @1, ST SITHE
OIS J1al, ST SCHEA
SR T, TERTE B GHEEEE

(b) Dandi March, Civil Disobedience Movement
TS @Y, ST S S
IS a1, SZA S HCHAA
Zf= wfeam, 313F T FHEaREg

(c) Collection of funds through Tilak Swarajya Fund,
Non-Cooperation Movement '

oo 7aTe0 o FTNA f8 IR, SR WA
oot aren #ffem T4CT & AR, SR W
forerer merereTR Yfora A 1 gy, RETTE B WA
et @@= Ty & ST v7 9, e sidem

(d) Historic August Meeting in Bombay, Quit India Movement
@ afeafe w192 e, Sae e SwER EbaE
@raiE-9a ISR AR TS, SHS W9 STy R}?@
v STRBFTR STTE ST, T TR e
Tt it e SvTE v, YRE BYe) aridiem

s/520-C
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36. Mat.ch the ?ollowing and choose the correct answer :
() Ambikagiri Raychoudhury (a) Gyan Pradayini Sabha

(i) Padmanath Gohain Baruah (b) Bandini Bharat

(ii) Lakshminath Bczbarua " (c) Ahom Sabha
() Anandaram Dhekial - A (d) Been Boragi
Phukan

T IR R o ws S zﬂi e
() PR TR T (a) B o T
(i) *FIY SRR (b). 3R S
(iii) TR @oee (c) R 3T
(iv) ST ofearet oo (d) [ 3N

A (TSN (NS @2} W T @0z S :
() SRR o (a) T el el
(i) oF CaMETRRRR 3 (b) IR EwE
(i) TR G N (o) s

(iv) S ofeme g oo (d) Fer <
TR BHEEE e 3R 1 ﬁr—mr@ graE' T g

() sl T ~= (a) YRR w
(ii) W= e (b) ==t W
(iii) ST S (c) SR W

(iv) A= GleFdTd FFA (d) = ='wh

2 2ri Gel w1 fram w0 T I for

(i) Wi W (@) TH SETRAY @I
(ii) T e ;o (b) A W

(i) weHTE SIS _ () IMEm w1

(v) sF=E @ g (d) s

(a) (1)—(b), (ii)—(c), (ii1)—(d), - (N)-—>(a)
(b) (i)—(d), (i))—(@), (i)=c), (v)—(b)
(o) (i)—=(b), (ii)—(c), (iii)—>(a), (iv)—(d)
d)  ([)—=(d), (@)-(a), ([i)=(b), (v)-c)

p25-55/520-C | Ve,

e R TiAmieu e, CRERN.  TIR f o Sy P TS, iy g UL R
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37. Which of the following is true about the Gandhara style?
SRR O ST T51q (T 0% ? €
SR Al S=oicd Nevy @t % 2 i‘.‘

l_‘ ,'-. __.]

TR 3eaf |/ TeEi 51 A7 ‘

T Seh % e 3 w7 A A-m w@ A

(@) The central theme was the Hindu deities.

T4 fawen wifed 2w (oR-crapTe |
T3 s fi 3 om-rdpTa |
8 e fig wers - eI |
yen fwag femg 2a-3fd o) o~
(b) It was developed mainly in.. ‘\ilcstern Uttar Pradesh.
R Rer giarerss ﬂﬁwﬁmﬁfiﬂl
UE TS ﬂWﬂﬁmemﬁzal
A e TRY AR ST RN S |
T e geud: uiim IWoven 3 gen ol

(¢) It was influenced by the Mathura stylé: only.
% (7ol 9431 AR A Aol GafRE
oft @9 TR 7= g 2R |
it W AEEwa e ﬁ’éﬁ@ﬂm
78 Fad AY0 Aeht | gvrfad g8 A
d) It is associated with the (f}rleco Roman style.

—_—

% Hg-@HH AR CIe e, |
¢t Te-AwA R TR TSl
Fy Mieh-U A S WHT T |
7 Hie-Tma Nt | Feiftra &)

B25-55/520-C

[ Contd.



el U R TR T g R R

(41 )

38. How does 1t ; e
diversity? he cultural heritage of India reflect its historical

:ﬁ\;mw FoT Afve S afeaf Afbtaers @ ofewhe 71
mmﬁ T Ay ar Sfvzbis Rfaers Froa afeahe 7@
Wﬂwﬁﬂaﬁmaﬁwmmwﬁam?
fon 27 Wm“ﬁﬁﬁ%maﬁﬂmﬁfaw@mmuﬁﬁﬁa

(@) Through uniform pohtlca! history
TRRR IrEeAes 2oz @i
G2 YICTR AT SR 9l
T TE e shfEf R
T & YHR & eIl 3R ¥ sk

(b) Through various languages, festivals and arts
representing different regions

mﬂmﬁwwﬁﬂqw%w TOR A HE-FAE

2

ﬁﬁwwﬁ@wﬁﬁw ToR ¢ Pm-F=] |l
%waﬁ@a@ﬁﬁmwwm,mmﬁmmﬁ

fafim éﬁwuﬁﬁfmaﬁmﬁﬁiwﬁ wren 3R Fa1 F ARG
(c) Through a unified national language
1 @GS T SAR TS
G3fb @Iy W SRA Tl
AT AT afmmﬁ REERIEIS]
T THIgA TG A1 S
[c/l) Through a single style of architecture
el ARy ZS e wﬁm
e 7B Fofer O BRIl
TEmde gEAER wﬁaﬁﬂ%ﬁﬁ
¥ T T el F Wﬁq

_I-
_#

39, Match the following and choose the correct answer :
(i) Kathakali Yy (@) Andhra Pradesh

(i) Bharatnatyam (b) Kerala
(iii) Kathak (c) Tamil Nadu
(iv) Kuchipudi (d) Northern India
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SoTS faTcam e s us ‘Gm’m MR, Tfrear :
(i) = (a) SERETTT
(ii) SRAGN = (b) @@
(iii) (c) wifie =
(iv) FBf R S . W;mri
AE reMSTEN (oS g wE el (qg e
(i) wufe (a) SERATT
(i) STTSFIGN (b) FAEI
(iii) T (c) wIErg
(iv) THe® - (d) ST e
TEERE BHEHRE T8 3R ﬁﬁm@"l g T e
(i) =urHie = (a) TUIIE
(i) SREAT=H :: (b) e
(iii) For =i (c) diEerTg
(iv) g S (d) wm
T frem 0 i wd I forad el ke,
(i) huweh - w () 3Ty TR
(ii) RaATeq : - (b) IS
(iii) U  (c) diheTg
(iv) FFgH . (d) ST 9Rd

(@) (i)—(b), (i)=(c), ({i)—(d), (iv)-(a)
(b) ()—(b), ({)—(d), (iii)—>(a), (iv)-(c)
(&) (i)-(0), (i)~a), (iii}-(b), (iv)-(d)
(d) (i)=fa), (i)-(), (iii)—»(d]?’fi?)ﬁ(b)

40. Two statements are given in the question below as Assertion (A)
and Reason (R). Read the statemcnts and choose the correct

option : S
Waﬂzmwm?rm)wmqafm
B e (R)-f2oret 701 B fimm Cawe 1 BRTR0T o

Sieva erfire WA (A) 9% 9199 (R) Rowd
mm\mﬁwﬁmmm(:) i e crem zowe | TRk

el dAEE EE (A) AR
ﬁgﬁtﬁr@?wm %mm@\m:(rﬁ)ﬁgq W Fef de

B25-SS/520-C
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A= & 7 1 arf
ﬁiﬂﬁugmaaqai:(m f"ﬁlm (R) % wu # 2 et & 7§ &1 7% T3
; ' Q0
Assert A) : 3Gk
ssertion (A) g‘gﬁ

During the Ing

worshipping Wc?cs Valley Civilization, diverse ‘ways of
worshipped by ) observed, and various deities were

Reason (R) : PROple.

The anci igi
qoent religious tradition of India accepted the

rinciple oted 1t
gmong nc\?,f tOl?I:ancc, co-existence, and assimilation
traditions or religions,

w4 (A) : @WWWGvnﬂaﬁﬁmWﬁW@’Wm
41 o1 1y )

I (R) : Wﬁfﬁw@qﬁgwww fawp1, -4 cFae
? q_q’ ’ & NI g
RN, SRR W Hefe @ e S 7 R |

TR A) B oo o 2w YRR oA owW A TP (ASHS
fowet e wm o

TRV (R) : ISR ifbiven o oo wpa woa feepi, A-Aifea ova
SRS, STERfEe G3z e @ TR-TS 4% A |

o (A): Rey dwfy d8dm e et R T seest
AT T T i dersa 33 2E |

S (R) :  WRaM MW Jermi SEt MR MeH BIUEEE, TR
G SaRE GREEEEE, SSEAEEE AR TEERetE
Y 331 @I SAEemE |

sy (A) : Ty = @y H urhis s § a6 fahE gefadl %
Ty Fared et § ff fafawa <@ sl @)

FRO(R) : W@ 1 Wi i wansdt 3 7§ amend, Gfa-hfs % & A
gfewpar, weafia i Wi ) o I A 7w o)

(a) Both (A) and (R) are true; but (R) is not the correct
explanation of (A). iy
(A) SF (R) TS0 19; 72 (R), (A)7 0% 01 R Eﬁ@
(A) @3¢ (R) TeTH T, &9 (R), (A)-9% % 000 W | 2
(A) TR (R) A aw; o (R) 31 (A) T o @@afy w27

(A)aﬂz(R)ﬁﬂé’f%;ﬁﬁ(R)- (A) < & =T T R

C
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(b) Both (A) and (R) are true; and (R) is the correct explanation

of (A)
(A) W% (R) TS 37%5; TF (R), (A)F 9% 00
(A) @3} (R) TS 9; @ (R), (A)-47 5% 01 |
(A) 3 (R) a1 aw; 3m (R) 371 (A) B o A A |
(A) iR (R) 21 @t & 3k (R), (A) A wé) = |
Lg,) (A) is true, (R) is false.

(A) 3%, (R) P79 | Elb4E
(A) 371, (R) =p7er | %}‘:ﬁi

(A) 3n ¥R, (R) 31 ¥R 737/

(A) =@ ?, frg (R) 71e@ R
(d) (A) is false, (R) is true.

(A) =°79, (R) 377 |

(A) =°793, (R) 3797 |

(A) 371 9R 7=, (R) 31 ¥R

(A) T 8, frg (R) w& R

41. Chqose t}}e correct set of statements abo
options given below.

IUCN =°[t$ u% AR TS il RwcARa o AR Sfee |
[UCN o4 0% IIacal S (6T RmeTe (F (R I T
IUCNﬁHﬁﬁWﬂT@@WWW’?ﬁﬁ@I
¥ fa g fasredt # @ IUCN ¥ o # g It g
(i) IUCN was formed in the year 1948.
[UCN $58b 579 5197 331 (2 | . I;_':'IMEI
JUCN S 8V 37 5154 1 T | ‘ﬁ%ﬁ
[UCN @t 1948 TRdRE THM SIRHH |
a8 1948 # JUCN 1 e 311 411
(ii) The full form of IUCN'is Indian Union for Conservation of

Nature.
JUCNA 5794 %15 (& Indian Union for Conservation of

Nature.
IUCN-«3 5794 %°fb &=1 Indian Union for Conservation of
Nature.
JUCN fi 271d #eu 9@/ Indian Union fo i
r
ety Conservation of

JUCN 1 g Indi : .
oLl ‘I?f 2 Indian Union for Conservation of

ut the IUCN from the

B25-58/520-C
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(i) WWF and wo
: orld Conscrvation Monitoring Centre were
established with the initiative of IU(:Irxlt.)rl *

TUCN? STTre R e & (WWF) s oy sicaer Fars 7%

IUCN-3
(Fe WT m A < (WWF) @ Fen sigeres Frarst

IUCNﬁa:Fﬂm ; " .
£ ol WWF it g g Fmfafornd fire e

IUCN i w1 4 : =
A e g o) 4 Ty fif (WWF) ai R g Pt

& ﬁ?ngge Chisholm was the founder Director-General of

o fe¥%'T IUCN 7 afisbiors stwsrrs 2t wife | 5%5
o Beta IUCN-«q 2fobrs e o R | o
v fas'v3 IUCN R ity mer amarafiieE |
IUCN & WY HETey st foste 9|

@ @), ), G (b) (i), (iii), ()
(o) (), (iv) | (@ ), (i)

42. Which among the following options is correct for quaternary
sector of economy?

Tod% g FYAINSA IR T P s o 7

v e WA o Tov @ Fw ww 7

Afy G Efaly JTEE et e A Ao
=it @ ot % =9gds &7 % fore F-a ooy wd 7

(a Community-based tourism

sremR-fefes RloT '
sy -fofes #rfoa E%&E:]
AR A

Hoer F NuR W gde

B25-S5/520-C [ Contd.
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(b) Innovative rescarch on modern cco-friendly technology
S oo - agfed R TeRAEE N g
TMem e M fifaf an dfeg ffdm T
MY gaia-argga Weifieh % =t i FEEm my

(c) Sales executive of a shopping mall
@3 AR ToE R IR R
03B W Woorm A& InfaiR s
TR | gy wm fEmfii
T Wiy wie 1 fosh) Frfames a1t

(d) Green bus service for public transportation
SN T2 A 1w AR ORI
- AR & S I G
T et avam e e s JwefE
rEsTe TiEga % forg i =g e

43. Two statements are given below, one is labelled as Assertion (A)
and the other is labelled as Reason (R). Choose the correct

answer based on these statements.
oo 751 Ofe R tarw, @B WA (A) BERe Wi WG $R (R) 2RI
e 3R | 2 Sferatn fofes wa Tewh! AR Sfere |

M 1t o crow Towe, 3 MR (A) RewR @) =i R4 (R) Rewa
fofee 3@ | @2 Tfeghr fare v el (@ 39 3 |

e At gy dem S, A i (A) TR TaE!
seF (R) ﬂﬁmﬁ%ﬁafﬂﬁrﬁ%ﬂmﬁﬁ%mq@m’q%a%gl

= 3t 3feral & T €, wF e (A) % ¥9 % it g@u s (R) % w9 H)
Wb &

77 3FFAT F AUR R T fasheq g
Assertion (A) : %

With the change in society, simultaneous changes occur
in the conccpt’of resource, and consequent change in
resource collection and use.

Reason (R) :
With t'he expansion of human knowledge and development
of science and technology many neutral stuffsp d
resistances are transformed into resources o

520-C
B25-SS/ [ Contd.
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TS “fRads §5m e we sropa e, TF ZAA S
W IR *fdad 936 |

N (R) : PR B 2R W -2 S o ARA o 7

e s eifcai sl smoma womERe tas |

TR (A) TR o Bm Y A e AR 69 a7 T 8

TRZCIAG AT ||

IV (R) : TR W 2P e, R -2y e e s 4@

TS aeers @ ofSraiee sTd seei FemEie 2z |

@ (A): EEER R A A e ety o e 3

I AREERE) AarAr &)

SEH (R) : Wl fam darm am Afem-fete et

TR wen wremaat|

AFTT (A) : qoie wiads Foam-a w6 smuron AR 36

TRV TH IR 1 v g R

O (R) :  WEE-IW ¥ wER 3 REm-tefe F fem ¥ s

(a)

(b)

©

B25-85/520-C

g?%?ﬁ s e 3 widus wmfial @anm # ofafda
Both (A) and (R) are correct.
(A) % (R) Y@ 3% |

(A) 932 (R) T=w w5 |

(A) 3 (R) A== A1)

(A) 3r (R) i @& 21

(A) is correct, (R) is incorrect.
(A) ¥%, (R) 547 |

(A) T@, (R) oI5% | :

(A) 31 um, (R) 30 am F@1l
(A) w1 %, forg (R) @ 21,
(A) is incorrect, (R) is c_ériféact.
(A) 5%, (R) 9% | Y
(A) =9, (R) 97 |

(A) @1 9r 71, (R) 1 AR
(A) e &, fFg (R) w8 &1

S e
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(d) Both (A) and (R) are incorrect.
(A) == (R) TS ore% |
(A) @2 (R) Totu w95 |
(A) 3 (R) A3sh o 7211
(A) 3 (R) 2t e &1 1

44. Which of the following are: COl‘rCCt regarding ¢ conservation of
resources? s

SRR FRFTH TRFT wee 7Y @mﬁﬁ]?@m
TR SRIDY od NE sl cafmﬁ 1% 7

e Wt =i e B T R A7
T A TE-EE F G T FH-Y e a8

() Economic use of resources considering long-
developmental process

%ﬂ%wmﬁmﬁﬁwwﬁ—aﬁw
memmwmﬁﬂﬁw
‘ﬁﬁﬁwﬁsﬁwﬁ@ﬁ@aﬂﬂﬁw@@ﬁw
ﬁmaﬁmw&—mﬁmﬁwmmﬁamﬁw

(i) More and more use of noﬁ-renewable resources instead of
renewable resources (¥

ARG S o W WS RN SRRSO A
BICEC]
TR ST A0S TEE T TSI F72ord IIZA
qeE! FREA™E
qdierim gayEl & dea o Ifts W # edivig @EeRl w6
I

g;y Possible optimum ut1i?§§r£10n of resources without any
destruction and misuse -
m«ﬁﬁﬂmwwwmﬂ“wwoﬁw
(I FCR T 6 SHPRIRR RIS ST Sy ofef q

S JEmt BISEEEE SR TR weRel sem 31Ty

lasting

TnIT'E?T‘WT‘I V)
ﬁ?@ﬂﬁwwmaﬁ(mmﬁmﬁmﬂﬁwdqﬁa@w
H

0-C '
B25-SS/52 [ Contd.



45.

B25-85/520-C

( 49 )

(iv) Preservation of resources for future without any use
TR R @< SfRwres 3 ez i a9
TR R (3771 SRGTSA F ooy Tl A1
TERTASIRR AR aram wrew) Pan daE
TR B o 3wm fr wiye % R wifa wo

@ (), (v S ) (), (i)
© (i), () ) (), (i)

Two statements are given below, one as Assertion (A) and the
other as Reason (R). Based on these statements, choose the
most appropriate answer,

TS Y01 B tere, @b W (A) Rone W AFOR 919 (R) R
%%—o%ﬁlmﬁé@ﬁm%wm?ﬁ@%@l

B (rewl 3 7y Gl 7@ (A) «ae S TR (R) fwica fofEs w1
w@%@%@mmﬂfgmmmml

e M g g o, s i (A) o e A sed (R)
@mﬁﬁmﬁmm@m&“ arrE ' ReA

A1 2 Sftrat A 8, o s (A) = s qmn wROT (R) w9
¥ Al F 921 R R w3 o B L
Assertion (A) : ~

Economic Geography studies human activities associated
with production, distribution, consumption and exchange
of resources in spatial and temporal contexts.

Reason (R) :

Human’s way of life and their economic activities are
different in terms of spatio-temporal variations.

TR (A) : ELAEF FroETS AR Teom, Rewe, Seger s R,
TF W AT EEO A IR TS T T
SR P91 T | .

I[V(R) : Tz GRAeEe ﬁmﬁﬁgw e IR FH-FE (S
(@9 ACET = | g"”: _

A (A): e TeaE o e, e, Teicetet ¢ R, wa
@R MY G T FRFN T 8 FE ST W 1
ek

I (R) : T SRR q3g SAeE I €R-9E ocn fon few
7 |
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T (A) T s wEef, Rgr, T AT, A 3
e -ure mﬁ%sﬁtﬂthrﬂwmﬁqﬁmmﬁﬁtﬁm

a’rrﬁﬁﬁrmarﬁﬁwmmmmm
M (R) : m%ﬁﬁmﬁuaﬁaﬁﬁaﬁﬁm&ﬁm-wmm
fafeeen sifed g3 g s

W(A):Wh@aﬂmﬂﬁ%aﬂm,ﬁmw Igam st
91 e 9 wea nfafaftat @, wmw%ﬂ'ﬂ“
A P s el

W (R) : w3 Sham-amm A o i i i s o
91 % Irgan fm-fim 8 wwdi 1

(a)  Both (A) and (R) are true; and (R) is the correct explanation
of (A).

(A) IF (R) T 573, WF (R), (A)I 8% W41
(A) @2 (R) TS 39); «@R3 (R), (A)-94 87 1401 |

(A) 3 (R) = 7d; a1 (R) o1 (A) F 79 daafirm
(A) 3 (R) 3nt @ &, JﬁI(R) (A)?ﬁﬂ'&ﬂfﬁﬂm%l

(b) Both (A) and (R) are true but (R) is not the correct
explanation of (A). La

(A) I (R) T ey, 92 (R), (Amsﬁwmmu
(A) @32 (R) Tsey er; f#2 (R), (A)-99 5% W0 =7 |
(A) TR (R) Hel 3; mama (R) 311 (A) B 7 Sdferm )
(A) 3R (R) 21 vt ; T (R), (A) 1 w&l =amen 7@ R
(¢) (A) is true, (R) is false.
(A) 3%, (R) SPTS |
(A) 37, (R) SPT | f
(A) 274, (R) 31 7 7|
(A) 7 8, g (R) T &1 F
(d) (A) is false, (R) is true. =,
(A) 919, (R) 9 | ...
(A) &1@, (R) 797 |
(A) 211 7@ 7=, (R) 31 74|
(A) e &, foig (R) w&t @)
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SECTION—B / = [ e ) @—argrh [ @IS —W

Compare the methods of protest used in the Swadeshi

ovement with those employed in the carlier Indian Rebellion
of 1857, '

WWWWW\Q A oA @Ml Srea R SASH
R <2 1 =rafn o1 o) o |

T WA 9T AT TR P S Sves ST SO
facarz 2 w1 orafw sTee we | -

TR WHEERAAE aeremE arEaeEl seaerd A Rerem
S 1857 #ruRf wrai faumammE aerAm seamE) w9

T SRR 3§ s T s i o e v 1857 % sl fEre
R ST T SR w0 % e e )|

Look at the
follows :

m‘iﬁwmwwﬁmﬁmmm%m E{%@é
T R e 7 W enfoa g e i
TR ST 71 S 3 S v e o )
% o 1 3 i 3w w5 v

picture below and answer the guestion that

:

i ral features of the Rang Ghar. Wh
if’l;: 1thljge*.@f:'Llr}fchitecturf: bu‘:ﬁncliluﬁig the Ahom peri%d? 2{1=3
¥R R 151 grerere (afer foare a1 1 e gore @ gefens Ry
fsfier <par Cafwn 2
I @ A 6 i (3e) TIe 1 | SRR o 9% e 3
frier zea 2gafEe 2

[ Contd.
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R Smfasrn ey gfraR mwﬁ?'wwa
M W ? g

%@mmfamaﬂaawmmmaﬂﬂwwm
F"‘“*"T e e e
fg% E@ﬁ o:-/m/wxvm/arw

( For Bllnd Candidates Only )
( = R& =AW ALTFerT AR )
( 3= Ream +[rw&preeem o= )
( Tt 3Ry Renfaerd g’ )

( et gfanfiva whenfiit 3 fore )

Analyse the impact of the Bihu festival on the social unity
among different communities of Assam.

W%WWW 337 4TS {7 TR e e #4 |

Wﬁﬁfwaﬁmwﬁﬁs&mmmﬁﬁ@aﬂmwﬁmﬂq
I |

ﬂgwmﬁﬁmmﬁ@%ﬁw%mﬁ

a7 & fabm sHagert & &= Iga 7 5 ywR gt v =
e foran 2, fergetoor &4 e m%éim
[=]3

48. Evaluate the role of General Dyer in the Jallianwala Bagh
Massacre and the subsequent reactions to his actions. 2+2=4

TP A5 TSTAGT. (T TR R 9 (oo IRAREA
ﬂﬁmww:

o0 (7 e o o | B | (A | rm@ (EICAS SR TR
WW@WWW| L i o

Wwﬂwﬁ%wmmw TR
FAf TRt /e | "

Wm%mﬁwwﬁ i
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49. Observe the given statistical data on the collection of revenue
(in terms of rupees) by the British Government and answer the
questions that follow :

)10
' Gl
Year—| 1832-33 1842-43 1852-53 (=3

Districtl S &
Kamrup 1,10,181 2,52,991 2,95,996
Darrang 41,506 1,35,454 1,657,795
Nagaon 31,509 1,10,314 1,28,873
Sibsagar - 80,843 1,14,463
Lakhimpur —_ 34,780 46,553

Bfde e e awza (Sew fapere) Rua fi ofRamR AR

AR 1 WIE O Preq ehFReR Teq i

RI— SrO3—e SrBA=8Y Sra3—¢®
o 4
I 3,5%0,35%) 3,¢3,55) 3,5¢,550
e 83,e0% >,e_*&::si§s y,29,95€
98 ©3,20% s,sé_;;ﬁia 3,Qb,ba0
IRELIbE| L bro_,‘:;e 5,58,8%9
R _ ©8,4%0 8%,¢¢9

b SRR R TeEd (DR o) R crem #feReum SPigR
PP IR 99 OROA eryfer TeR S

> Sye3—00 . Sy 8Y—8¢ Sre3—e®

Ear gl 3,%0,5%% {,{3}%@5 3,508,550

1 83,809 5,05—:'343 Y,29,45@

O}:210) O ©0),a0% >,>_6';~o§s 3,3F,rq9
Ok ﬁ T = vo,v80 3,538,859
R s 08,40 8,029
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R qqrft @m
ﬁ 9 T @S (i o) an E
3R 4 I i i @

- _—1,———""'__—‘-—._—_
Eﬁ%ﬁ? e 183233 | 1842-43 | 185253
[ORw e '

| ‘-E ._-_'__________._—-——-
WY i 05,996
—_— - 1,10,181 |"2,52,991 _E___——-—-—
. 41,506 |\--1,35,454 | 1,57,799
T 31,500 | 1,10,314 | 1,28873 |
R — | 80843 1,14,463
R} — 34,780 46,553

fofew @ am wfte woma (em % v #) ¥ wof # Ry M wiEEE
mmﬁﬁm%ﬂ%ﬁt@%aﬁa%mﬁ%wa: |

T 1832-33 1842-43 1852-53

e 4 €3
T 1,10,181 | =2,52,991 | 2,95,996
= 41,506 [71,35454 | 1,57,795
it 31,509 ;:__%,10,314 1,28,873
RrawmR —_ 280,843 1,14,463
TR = © 34,780 46,553
(@) Compare the data between Kamrup and Darrang, 2

IR I 7T SR G 39 |

PG IR TR (I OGN o I |
e o i Wi g@g
ey 3 g % sHiwe) i gert w1 | [

(b)) What was the impact of the change on the
Kamrup and Darrang? : peasants of

PG| B TAET FEI S8 *RTETDH 2o s afien 0
moxmmmw@w@ﬁmm%m&m |
e, HARER MR W ey
Frrey 3R 2 F Rl TR F1 F 91w ey g

20 .
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Chandra Kumar Agarwala, the editor of Jonaki, in its inaugural
issue made it clear that the politics of the rulers was beyond
the purview of ‘Jonaki’.
‘IR IR AU RIS FEEHA SRR <%l PR I fifEE
NPT ASANS (G S Eor 278 A1f |
‘AR’ SRR SN ST EPNR, SsReTE «bl =R e feafee o
*PTRTICER ATANS (AR T WSO 20 AR |
SR R fif femE T g sRarer S e arerE
TRmMAR gifterR Tsarfm ST [ Sae A1eUd Ami |
‘S uBE ¥ wuw o A 9% AR IFTEEn 3 T8 W H o1
TRl 1 T SR ® g |
(@) Who are being referred to as ‘rulers’ in the statement?
b “rRee’ I 1 @R (2R ?
fRqaaibce *rRsiee” Jece I0F 960 LR ?
3 ferdftrma ‘gffer’ S dad g e
I HUA U WTEARAT Fohee el T a?
(b) Which association published Jonaki ?
I TS (TN TFR, 2R e 2
‘IR wifae I A 2 e 7
‘IR Al 99 e eREREE?
‘S’ e 1 e e 3 vl fo an?
(c) 1f politics was out of the purview of Jonaki, then how did

it contribute to the growth-of nationalist consciousness?
Provide at least three examples.

i qEAS THPR HgeR IS A, (908 2 @FALT TermerR
(FeR Rarre i aneizfee 7 ofs Feas fefbr Tazaq fir |

s AR “coIR’a SNGR A% 8w, e <t Frenq wome
(5o R SRMi (edfea 7 Tee fonfo Bmeae we |
mﬁmﬁ ‘AR’ Ewf aRuE e, S| wenfed
TR g FEm eRmR? G wrem A
R S Teife @ @ A, @@ g8 e R e San & e
e 2t A7 FA-A-FH A I A

What are called Ubiquitous Reéburce and Localised Resource?
Give example of each of these.resources.
B3 2RIZF =% AF QAP F=2F FIe A0 7 AT Srza

. o 38, B 7o FF 90 7 2fefbd THRAT e |
mwmmmwma@?ﬂWWﬁma.
aﬁwﬁfﬁmaﬁtmﬁﬁwm%@ﬂmﬁ?mmmm
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Tn.bu”_e
i The Assam
gll‘u:flc oéucslion that follows :

52. Rcad the fol]owing news hea
5 slowest cities in terms of

(29 December, 2022) and answ
“Guwahati named among tolp
average vehicle speed.” Ao ine  faced by
Mention three environmental ! problems beihg

Guwahati due to slow vehicle speed. arefa R *m
ST BRE g (2 o, Roay) @8 A '

¥ OR ez epqcha e traay, w2l =T ("
“TE TR e (e A o9 A 5T 19 qnﬁm;ﬂ |
W-WWWWWW%QWW ol
TEY 391 |
A e f e FRET ofkem (s RO, 208) I P
TP IR TR afhg ey we "
“9TE TR-T2ER oifew e T ofb WER WEAR (gerd SHRIHA A
TR €T ofex e ur A rAA 2em feA o e
SCE A & = M
R smam Rt dni femh (20 Ramw, 2022) TEEE HE TR T
gl =l

T | —
‘® amam ’ IrEER % (29 fEer, 2022) FEfkiRad TR F wfids 5
b e e TG o W IR A

“'afrga Ted Tfd % & & T 5 O wed § e & am

el it T F FeraeT TR T anE W el g w5
3gd F |

53. Does Assam have prospect ;joi’* the development of water
transport? Give four argumer}tg;in support of your opinion. 4
EGWW%WWW? (OHR T4 >WefTe B §fes

r

P -~ T O WY 9 (e TBIR YA TR I

e |

W%m-mmmm?mﬁmmmm

THGATS B

7 orge A w1 9REe & o f dEm 27 e AR 1 e [ g

9w gfwatl foat |
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54. Based on the features given in the following table, compare the

Pacific Ocean and the Atlantic Ocean. Draw the table and write

your responses in it : . S
Sl. No. Features jP‘_a"rrlﬁc Ocean Atlantic Ocean
() |Location (0
(i) |Land arca (N
(iii) |Average depth R
(iv) |Major islands
(any two)
(v) [Major seas in
the ocean (any
two)
S SIS 7R SRR fs opm T2pTeR I ShAlDE TRRTAE
T T | SR S W OTS (o e o
&7, IPEIR g VZPId e b JZPN
i) | ‘ [
(i) |- 4=
(iv) |Somwcmen Reprz fY
(Rezren 7=1)
(v) | TEPTSRYR SrEYEen
STz (R 1)
Acva eferem e CAPRIGeTM Rfate e TP @R wibeioe
TPICER $orel FCA1 | Sl S G38 OIe (SRR Tea%TE (ol :
TR CIEPTR 213 T2 WoeAfoE TN
(i) |orfE o=
(i) | e [
(iii) | 7 7 N
(v) |Crmezaen Reemz —e:
v) | weremia s {72
TR (O e )
[ Contd.
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e : v fen @ SR éﬁm ;’"?,
Wﬂ%ﬁ%ﬁﬁ@w@ e
T —
A g | e | et
() | wem [
| (i) | =R sxer : -
(iii) | 72 e '
(iv) | wa'snums Rawn NN
| e aay) S |
v) | v’ |
AMER (srfasrn M), |

Sl S R gerpe—————E R I e
TERFT 1 e 7 | aiferepn sl 39k I o I fora

Fo o fmard woia qEETR | i HETHr
(i) | safaf '
(i) | &=%a
(iii) | 3hrwa mead b3
(iv) | 3g@i fuage i
(F1 2) = [
(v) | ¥EWETR ¥ SgEeT ae [
(FE ) .l
55. Draw a sketch map of Assar.and locate therein any two of the
following with names : ' 2+2=4
TR QY T A Wl e oS Cere faeaed R %1 e
REACE I

PRI Gl W WA B «3R S RS @ AT B [PHE IS :
AEMEE T AFEETR N TR S TERE SHEERN Saiasar ]
THEEA T : | o = !
ﬁa;nﬁmwi@ﬁﬁwwgﬁawmﬁﬁﬁﬁmaaama%a

(a) A bridge connecting né::_th and south bank of the river
Brahmaputra o

T SR A TR R @5 g
T TSRS IR TS KT @l o
e T 0 e e PR 7 <
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(b) A National Park of Assam where we can find white-winged
wood duck

(MS2R (73 (°MR TR @3 AT T

(MGEP] (VTS e SPIA @ AHT T *@ﬁ
2 T TR W TR EgEh g

3EY F1 T TP I, Tl 23 w9 farg 2

(c) An oil refinery of Assam' *
TR QBT (T (IR
SR @F0 (O IR
JEWR T 9" FEEia
WY 1 Th 9 AR
Or / 7%3 / 971 / var / seam

( For Blind Candidates Only )
( 791 QR ={pwTprera 03 )

( G o= ~RwIAprece o )
(ﬂﬂnﬁgﬁﬁmﬁz@?ﬁm@mﬁ )
(Wgﬁaﬁauﬁaﬁzﬁﬁ:m)

Briefly describe the problems: of tourism industry of Assam. 4
ST 15T ST DI B 01 3 |

SPICAR *RfbA Smesia SEeTE FReEwee 396 I |

AR A TRAAR STRRE! e BREw | -

T % e v ) awnd w1 wa § w w) f%ﬁ

56. How are the permanent members different from the
non-permanent members in the UN Security Council? 2

?@ﬁmﬁmwwwwwﬁwwmﬁwo

AceRd P ofwem T TR WEl TOPReE (0 e

T2

mmmﬁggﬁnﬁ@ﬂmmmmw

M7

ggqqﬁgmqﬁﬂ{%ﬁl?ﬂw,mﬂﬁmﬂﬁﬁﬁwmw
?
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estion that

S7. F[ﬁad thc dCSCription bClOW and answcr thc qu

osduindt i in a village
Suppose, the government-has set up hosﬁ-lézltnllr:’:nt b tl%c
called Dambuk. The hospital provides free e the cost of
Findus, People of other religions have to D€
reatment themselves. . ) .
Can government take such-measures in a %)qncéry like India?
Give your opinion. Hgﬁ
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58. Suppose you are at a hardware store to purchase some goods
and willing to pay your bill amount by cheque. But the store
owner is refusing to accept the payment by cheque and asks
you to pay by cash, You'do not have cash with you.

What do you think why the store owner is refusing to accept
the cheque? Suggest any alternative way of purchasing your
goods that day. ) L' . 0
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59. As per a 2022 report published by thc" World Bank, the life
expectancy in some countries is mentioned below. : mEbiyE

Country Name Life Expect_ancy %55
Angola 62 '
Afghanistan 63
Pakistan 66
India 68
France : 82
Norway ' 33 -
B Australia 33 :
f}#ﬁ Japan 0
o ;

Why do you think the life expectancy in the countries like
Japan, Australia, Norway, etc., is higher compared to that of
the countries like India, Pakistan, Angola, etc.? 5
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